X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 NS: FaaBl M (BH0) -19 9 NS: BR<FR $BER(BAC) -15 VP:| 10.77 : 9.23 | Total VP: 50.59 Rank:
EW: BEHESE E5EEI0) 15 EW: &iil55 BRiEF%(BO) 19 IMP:| 21 19 9
___ _
# 11 » AQJ75 4DW-1 50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2NS-2 -200 Mean: 3HS3 140 30 2
v QJT98 5DE-150 60  5DW-3 150 3.0 1 v 764 2SE-150 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: -250 NS:-6 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: -6 EW:-1 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 2SN-2 -200 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 -450 Mean: 4HW-1 50 90 1
v 3HE-2200 70  3HE-2 200 40 1 v Ad2 4HES5 -450 -370  4HE-1 50 90 1
¢ T832 Dif: -400 NS:-7 3CXW-1 200 4.0 1 ¢ T42 Dif: 0 NS:-2 3NE3 400 1.0 4
& A532 IMP: -9 EW:-4 3DS5 150 2.0 2 & A974 IMP: 0 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3CS3 110 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 1NN3 150 120  2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -40 NS:0 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: -1 EW:-1  1NN4 180 2.0 1 » 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE-1 50 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS3 600 Mean: 3NS3 600 12.0 1
v A942 3SS-2-100 -60  1NE-1 50 30 1 v Q5 2SE-3150 -30  2SE-3 150 50 2
+ A93 Dif: 150 NS:3  2SS-1 50 0.0 3 + QJ43 Dif: 450 NS:12 2NS3 150 50 1
& 42 IMP: 4 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 10 EW:-5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 3SXW-2 500 Mean: 7CS7 1440 120 2 ||# 20 a7 6HS-2 -200 Mean: 6HXN6 1660 140 2
v AQ32 3CS7190 750 6CS7 940 50 2 v AKT7 3CN-1-100 580 5HXXN5 1200 120 1
+ QT73 Dif: 310 NS:-6 6CS6 920 50 3 ¢ 6 Dif: -100 NS:-13 5HXN6 1050 100 1
» A9864 IMP: 7 EW:11 6CN6 920 50 3 & AKJ7654 IMP: -3 EW:12 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
2 NS: B&SF STHINGEHO) -16 1 8 NS: &4 BREAI(BAC) 27 VP:| 1.03 : 18.97| Total VP: 50.67 Rank:
EW: BEERSF B R(EAC) -27 EW: EEE:T {attZE(BO) 16 IMP:| 10 48 8
___ _
# 11 » AQJ75 4DW-1 50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2DW2 -90 Mean: 3HS3 140 30 2
v QJT98 3NE-150 60  5DW-3 150 3.0 1 v 764 3HS3140 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: -230 NS:-3 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: -6 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 5DS-1-100 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 -450 Mean: 4HW-1 50 90 1
v 3NE-3300 70  3HE-2 200 40 1 v Ad2 4HW4 -420 -370  4HE-1 50 90 1
¢ T832 Dif: -400 NS:-5 3CXW-1 200 4.0 1 ¢ T42 Dif: -30 NS:-2 3NE3 400 1.0 4
& A532 IMP: -9 EW:-6 3DS5 150 2.0 2 & A974 IMP: -1 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3NN-2 -200 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 3NN3 600 120 2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -800 NS:-8 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: -13 EW:-10 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 -90 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2-200 Mean: 3NS3 600 12.0 1
v A942 3NE-2100 -60  1NE-1 50 30 1 v Q5 3HW-2 100 -30  2SE-3 150 50 2
+ A93 Dif: -190 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: -300 NS:-5 2NS3 150 50 1
& 42 IMP: -5 EW:-4 3SS-2 4100 1.0 1 & KQT95 IMP: -7 EW:-4 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CN6 920 Mean: 7CS7 1440 120 2 ||# 20 a7 4HNG6 680 Mean: 6HXNG6 1660 140 2
v AQ32 5CS7 440 750 6CS7 940 50 2 v AKT7 4HXS5990 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 480 NS:5 6CS6 920 50 3 ¢ 6 Dif: -310 NS:3  5HXN6 1050 100 1
» A9864 IMP: 10 EW:7 6CN6 920 50 3 & AKJ7654 IMP: -7 EW:-9 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
3 NS: B BEHREE(BHO) -2 16 NS: REIE 25 5E(BAC) -12 VP:| 12.83 : 7.17 Total VP: 30.09 Rank:
EW: BRZE#T SHEREREAC) 12 EW: Rl BRY¢(FEO) 2 IMP:| 18 10 17
___ _
# 11 » AQJ75 3DW3 -110 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 3HS3 140 Mean: 3HS3 140 30 2
v QJT98 2SN3140 60  5DW-3 150 3.0 1 v 764 2HS3140 30  2HS3 140 30 3
95 Dif: -250 NS:-5 4DW-3 150 3.0 1 + Q6 Dif: 0 NS:3 1NS2 120 30 2
&2 IMP: -6 EW:-2 3SN3 140 2.0 2 & QT976 IMP: 0 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 130 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE4 -430 Mean: 4HW-1 50 90 1
v 3DS4130 70  3HE-2 200 40 1 v Ad42 3NE4 -430 -370  4HE-1 50 90 1
¢ T832 Dif: 0 NS:2 3CXW-1 200 40 1 ¢ T42 Dif: 0 NS:-2 3NE3 400 1.0 4
& A532 IMP: 0 EW:-2 3DS5 150 2.0 2 & A974 IMP: 0 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN3 150 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 3CS-1-100 120 2NS4 180 2.0 1 v AJ 4HWS5 -650 -610  4HW4 620 0.0 13
+ AQ6 Dif: 250 NS:1  2HW-4 200 20 1 + Q63 Dif: 30 NS:0 4HW5 650 -1.0 2
» 8743 IMP: 6 EW:6 1NN4 180 2.0 1 & 87642 IMP: 1 EW:1 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 2SS-1-50 Mean: 3NE-2 100 40 2 ||# 18 aT5 2CS2 90 Mean: 3NS3 600 12.0 1
v A942 3NE-2100 -60  1NE-1 50 30 1 v Q5 2DS290 -30  2SE-3 150 50 2
+ A93 Dif: -150 NS:0 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:3 2NS3 150 50 1
& 42 IMP: -4 EW:-4 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:-3 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 5CS7 440 Mean: 7CS7 1440 120 2 ||# 20 a7 4HNG6 680 Mean: 6HXNG6 1660 140 2
v AQ32 5CS7 440 750 6CS7 940 50 2 v AKT7 5DE-1100 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 0 NS:-7 6CS6 920 50 3 ¢ 6 Dif: 580 NS:3 5HXN6 1050 100 1
» A9864 IMP: 0 EW:7 6CN6 920 50 3 & AKJ7654 IMP: 11 EW:10 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
4 NS: E=EE £HRA(BEO) 9 1 5 NS: BR1I8% BER(BAC) -6| VP:| 14.80 : 5.20 Total VP: 78.08 Rank:
EW: 2t B EEAC) 6 EW: M1 #iEH(BAO) -9 IMP:| 27 12 1
___ _
# 11 » AQJ75 3SN3 140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2SE2 -110 Mean: 3HS3 140 30 2
v QJT98 4SXN-1-100 60  5DW-3 150 3.0 1 v 764 2HS3140 30  2HS3 140 30 3
95 Dif: 240 NS:2 4DW-3 150 3.0 1 + Q6 Dif: -250 NS:-4 1NS2 120 30 2
&2 IMP: 6 EW:4 3SN3 140 2.0 2 & QT976 IMP: -6 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 2SW-1100 Mean: 3NE-3 300 60 2 ||#14 s A93 4HW-1 50 Mean: 4HW-1 50 90 1
v 2DS4130 70  3HE-2 200 40 1 v Ad2 4HWS5 -450 -370  4HE-1 50 90 1
¢ T832 Dif: -30 NS:1  3CXW-1 200 4.0 1 ¢ T42 Dif: 500 NS:9 3NE3 400 1.0 4
& A532 IMP: -1 EW:-2 3DS5 150 2.0 2 & A974 IMP: 11 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN4 180 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 3NN-2-200 120 2NS4 180 2.0 1 v AJ 4HWS5 -650 -610  4HW4 620 0.0 13
+ AQ6 Dif: 380 NS:2 2HW-4 200 20 1 + Q63 Dif: 30 NS:0 4HW5 650 -1.0 2
» 8743 IMP: 9 EW:8 1NN4 180 2.0 1 & 87642 IMP: 1 EW:1 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 -90 Mean: 3NE-2 100 40 2 ||# 18 aT5 2NS-3 -300 Mean: 3NS3 600 12.0 1
v A942 1NE1-90 -60  1NE-1 50 30 1 v Q5 3NS-3-300 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:-7 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:7 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CS6 920 Mean: 7CS7 1440 120 2 ||# 20 a7 5HN5 650 Mean: 6HXN6 1660 140 2
v AQ32 6CN6 920 750 6CS7 940 50 2 v AKT7 5HXS5 850 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 0 NS:5 6CS6 920 50 3 ¢ 6 Dif: -200 NS:2 5HXN6 1050 100 1
» A9864 IMP: 0 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: -5 EW:-7 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
5 NS: P30 SiERGEO) 31 14 NS: =55 MR (BAC) -9| VP:| 18.58 : 1.42 Total VP: 66.86 Rank:
EW: FER BEEZ(EAC) 9 EW: ZhiEE BREL\(BAO) -3| IMP:| 42 : 7 3
___ _
# 11 » AQJ75 2SXN3 570 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 1NS-1-100 Mean: 3HS3 140 30 2
v QJT98 4DW-3150 60  5DW-3 150 3.0 1 v 764 4SE-2100 30  2HS3 140 30 3
95 Dif: 420 NS:11 4DW-3 150 3.0 1 + Q6 Dif: -200 NS:-4 1NS2 120 30 2
&2 IMP: 9 EW:-3 3SN3 140 2.0 2 & QT976 IMP: -5 EW:-2 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3NE-3 300 Mean: 3NE-3 300 60 2 ||#14 s A93 4HE4 -420 Mean: 4HW-1 50 90 1
v 2SW2-110 70  3HE-2 200 40 1 v Ad42 3NE3 -400 -370 4HE-1 50 90 1
¢ T832 Dif: 410 NS:6 3CXW-1 200 4.0 1 ¢ T42 Dif: -20 NS:-2 3NE3 400 1.0 4
& A532 IMP: 9 EW:5 3DS5 150 2.0 2 & A974 IMP: -1 EW:1 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN2 120 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4NWS5 -660 Mean: 4SXS-3 500 3.0 2
v AT9 2SE2 -110 120 2Ns4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 230 NS:0 2HW-4 200 20 1 + Q63 Dif: -40 NS:-2 4HW5 650 -1.0 2
» 8743 IMP: 6 EW:6 1NN4 180 2.0 1 & 87642 IMP: -1 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE2 -120 Mean: 3NE-2 100 40 2 ||# 18 aT5 2NS3 150 Mean: 3NS3 600 12.0 1
v A942 1NE2 -120 -60  1NE-1 50 30 1 v Q5 2SE-3150 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-2 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:5 2NS3 150 50 1
& 42 IMP: 0 EW:2 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:-5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CS7 940 Mean: 7CS7 1440 120 2 ||# 20 a7 6HXN6 1660 Mean: 6HXN6 1660 140 2
v AQ32 6CS6 920 750 6CS7 940 50 2 v AKT7 2CN290 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 20 NS:5 6CS6 920 50 3 ¢ 6 Dif: 1570 NS:14 5HXN6 1050 100 1
» A9864 IMP: 1 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: 17 EW:10 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
6 NS: EH SERAGHO) -24 1 7 NS: PRIERR FE1ESR(BAC) 26 VP:| 0.67 : 19.33| Total VP: 27.26 Rank:
EW: BEEE: 12 {21&EHC) -26 EW: fIRE 5RE#(BIO) 24 IMP:| 10 51 18
___ _
# 11 » AQJ75 3DW4 -130 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 1HS2 110 Mean: 3HS3 140 30 2
v QJT98 3DW3-110 60  5DW-3 150 3.0 1 v 764 1NS2120 30  2HS3 140 30 3
95 Dif: -20 NS:-5 4DW-3 150 3.0 1 + Q6 Dif: -10 NS:2 1NS2 120 30 2
»2 IMP: -1 EW:5 3SN3 140 20 2 & QT976 IMP: 0 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 110 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 5DS-1-100 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE3 -400 Mean: 4HW-1 50 90 1
v 3CXW-1200 70  3HE-2 200 40 1 v Ad2 3NE3 -400 -370  4HE-1 50 9.0 1
¢ T832 Dif: -300 NS:-5 3CXW-1 200 4.0 1 ¢ T42 Dif: 0 NS:-1 3NE3 400 1.0 4
& A532 IMP: -7 EW:-4 3DS5 150 2.0 2 & A974 IMP: 0 EW:1 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 2SE2 -110 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4SXS-3 -500 Mean: 4SXS-3 500 3.0 2
v AT9 3NN3 600 120 2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -710 NS:-6 2HW-4 200 20 1 + Q63 Dif: 120 NS:3 4HW5 650 -1.0 2
» 8743 IMP: -12 EW:-10 1NN4 180 2.0 1 & 87642 IMP: 3 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 & T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 2NE4 -180 Mean: 3NE-2 100 40 2 ||# 18 aT5 2DS-1-100 Mean: 3NS3 600 12.0 1
v A942 28S-1-50 -60  1NE-1 50 30 1 v Q5 3NS-4-400 -30  2SE-3 150 50 2
+ A93 Dif: -130 NS:-3 2SS-1 50 00 3 + QJ43 Dif: 300 NS:-2 2NS3 150 50 1
& 42 IMP: -4 EW:0 3SS-2 4100 1.0 1 & KQT95 IMP: 7 EW:9 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 976 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CS6 920 Mean: 7CS7 1440 120 2 ||# 20 a7 3CN-1-100 Mean: 6HXN6 1660 140 2
v AQ32 7CS7 1440 750  6CS7 940 50 2 v AKT7 5HXXN5 1200 580  5HXXN5 1200 120 1
+ QT73 Dif: -520 NS:5 6CS6 920 50 3 ¢ 6 Dif: 1300 NS:-12 5HXN6 1050 100 1
» A9864 IMP: -11 EW:-12 6CN6 920 50 3 & AKJ7654 IMP: -16 EW:-12 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
7 NS: Hi&{g BRERGI0) 25 1 3 NS: T 3538 #3E(BAC) -28 VP:| 20.00 : 0.00 | Total VP: 65.87 Rank:
EW: MiEE £5875REAC) 28 EW: Bi{g EZE(FO0) -25 IMP:| 53 3 4
___ _
# 11 » AQJ75 3NE-1 50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2HS2 110 Mean: 3HS3 140 30 2
v QJT98 5DW-150 60  5DW-3 150 3.0 1 v 764 4HS-2-200 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: 310 NS:2 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: 7 EW:6 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 130 Mean: 3NE-3 300 60 2 ||#14 s A93 4HE4 -420 Mean: 4HW-1 50 90 1
v 2SW2 -110 70  3HE-2 200 40 1 v Ad2 4HWS5 -450 -370  4HE-1 50 90 1
¢ T832 Dif: 240 NS:2 3CXW-1 200 4.0 1 ¢ T42 Dif: 30 NS:-2 3NE3 400 1.0 4
& A532 IMP: 6 EW:5 3DS5 150 2.0 2 & A974 IMP: 1 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3NN3 600 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 3CS-1-100 120 2NS4 180 2.0 1 v AJ 4SXS-3 -500 -610  4HW4 620 0.0 13
+ AQ6 Dif: 700 NS:10 2HW-4 200 20 1 + Q63 Dif: 120 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 12 EW:6 1NN4 180 2.0 1 » 87642 IMP: -3 EW:-3 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 -90 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2-200 Mean: 3NS3 600 12.0 1
v A942 1NE1-90 -60  1NE-1 50 30 1 v Q5 3NS-4-400 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: 200 NS:-5 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 5 EW:9 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 7CS7 1440 Mean: 7CS7 1440 120 2 ||# 20 a7 5HXS5 850 Mean: 6HXNG6 1660 140 2
v AQ32 6CS7 940 750 6CS7 940 50 2 v AKT7 2CW-3300 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 500 NS:12 6CS6 920 50 3 ¢ 6 Dif: 550 NS:7 5HXN6 1050 100 1
» A9864 IMP: 11 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: 11 EW:7 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
8 NS: PREME SREEGHO) -11 1 1 NS: ZpiZi8 FEHR(BAC) -6 VP:| 9.23 : 10.77| Total VP: 56.13 Rank:
EW: P23 &£3222FAC) 6 EW: 8|818 #IEF(BO) 11 IMP:| 26 28 6
___ _
# 11 » AQJ75 3SN3 140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2CS-1-100 Mean: 3HS3 140 30 2
v QJT98 5DW-3 150 60  5DW-3 150 3.0 1 v 764 1NS2120 30  2HS3 140 30 3
95 Dif: 10 NS:2 4DW-3 150 3.0 1 + Q6 Dif: -220 NS:-4 1NS2 120 30 2
&2 IMP: 0 EW:-3 3SN3 140 2.0 2 & QT976 IMP: -6 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS5150 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 -450 Mean: 4HW-1 50 90 1
v 5DS-1-100 70  3HE-2 200 40 1 v Ad2 4HE-150 -370 4HE-1 50 90 1
¢ T832 Dif: 250 NS:2 3CXW-1 200 4.0 1 ¢ T42 Dif: -500 NS:-2 3NE3 400 1.0 4
& A532 IMP: 6 EW:5 3DS5 150 2.0 2 & A974 IMP: -11 EW:-9 4HW5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 2SE-1 50 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 2NS4180 120 2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -130 NS:-2 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: -4 EW:-2 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 2SS-1-50 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2-200 Mean: 3NS3 600 12.0 1
v A942 1NE1-90 -60  1NE-1 50 30 1 v Q5 2DS290 -30  2SE-3 150 50 2
+ A93 Dif: 40 NS:0 2SS-1 50 0.0 3 + QJ43 Dif: -290 NS:-5 2NS3 150 50 1
& 42 IMP: 1 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: -7 EW:-3 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CN6 920 Mean: 7CS7 1440 120 2 ||# 20 a7 5DE-3 300 Mean: 6HXNG6 1660 140 2
v AQ32 3NS4430 750 6CS7 940 50 2 v AKT7 5HS-1-100 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 490 NS:5 6CS6 920 50 3 ¢ 6 Dif: 400 NS:-7 5HXN6 1050 100 1
» A9864 IMP: 10 EW:8 6CN6 920 50 3 & AKJ7654 IMP: 9 EW:12 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
9 NS: BE5F B B EREIC) -15 1 NS: % EE HERE(BO) -1 VP:| 9.23 : 10.77| Total VP: 45.13 Rank:
EW: 18055 P EHO) 19 EW: [REF FFHE(BAC) 15 IMP:| 19 21 12
___ _
# 11 » AQJ75 4DW-1 -50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2NS-2 200 Mean: 3HS3 140 30 2
v QJT98 5DE-1-50 60  5DW-3 150 3.0 1 v 764 2SE-1-50 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: 250 NS:1 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: 6 EW:6 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 2SN-2 200 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 450 Mean: 4HW-1 50 90 1
v 3HE-2-200 70  3HE-2 200 40 1 v Ad2 4HE5 450 -370  4HE-1 50 90 1
¢ T832 Dif: 400 NS:4 3CXW-1 200 4.0 1 ¢ T42 Dif: 0 NS:-2 3NE3 400 1.0 4
& A532 IMP: 9 EW:7 3DS5 150 2.0 2 & A974 IMP: 0 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3CS3 -110 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 1NN3 -150 120  2NS4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 40 NS:1  2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 1 EW:0 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE-1 -50 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS3 -600 Mean: 3NS3 600 12.0 1
v A942 3SS-2100 -60  1NE-1 50 30 1 v Q5 2SE-3-150 -30  2SE-3 150 50 2
+ A93 Dif: -150 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: -450 NS:5 2NS3 150 50 1
& 42 IMP: -4 EW:-3 3SS-2 4100 1.0 1 & KQT95 IMP: -10 EW:-12 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 3SXW-2 -500 Mean: 7CS7 1440 120 2 ||# 20 a7 6HS-2 200 Mean: 6HXN6 1660 140 2
v AQ32 3CS7-190 750 6CS7 940 50 2 v AKT7 3CN-1100 580 5HXXN5 1200 120 1
+ QT73 Dif: -310 NS:-11 6CS6 920 50 3 ¢ 6 Dif: 100 NS:-12 5HXN6 1050 100 1
» A9864 IMP: -7 EW:6 6CN6 920 50 3 & AKJ7654 IMP: 3 EW:13 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 O NS: $3¥K ZEREIRGBHO) 4 1 2 NS: Bk = EABNBE(BAC) 9 VP:| 5.72 : 14.28| Total VP: 37.98 Rank:
EW: 13{EH Frg=EAC) -9 EW: EE 4 5%IFE(BAO) -4 IMP:| 9 22 14
___ _
# 11 » AQJ75 2SN3 140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2HS2 110 Mean: 3HS3 140 30 2
v QJT98 3DW3-110 60  5DW-3 150 3.0 1 v 764 2HS3140 30  2HS3 140 30 3
95 Dif: 250 NS:2 4DW-3 150 3.0 1 + Q6 Dif: -30 NS:2 1NS2 120 30 2
»2 IMP: 6 EW:5 3SN3 140 20 2 & QT976 IMP: -1 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 110 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 130 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE3 -400 Mean: 4HW-1 50 90 1
v 3DS5150 70  3HE-2 200 40 1 v Ad2 4HES5 -450 -370  4HE-1 50 90 1
¢ T832 Dif: -20 NS:2 3CXW-1 200 4.0 1 ¢ T42 Dif: 50 NS:-1  3NE3 400 1.0 4
& A532 IMP: -1 EW:-2 3DS5 150 2.0 2 & A974 IMP: 2 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN2 120 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 -620 Mean: 4SXS-3 500 3.0 2
v AT9 2HW-4 200 120 2NS4 180 2.0 1 v AJ 4HW4 -620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -80 NS:0 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: -2 EW:-2 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 & T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 -90 Mean: 3NE-2 100 40 2 ||# 18 aT5 1NW2 -120 Mean: 3NS3 600 12.0 1
v A942 1NE1-90 -60  1NE-1 50 30 1 v Q5 2NS2120 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 00 3 + QJ43 Dif: -240 NS:-3 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: -6 EW:-4 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 976 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 5CS7 440 Mean: 7CS7 1440 120 2 ||# 20 a7 5HXN6 1050 Mean: 6HXN6 1660 140 2
v AQ32 5CS6 420 750  6CS7 940 50 2 v AKT7 6HXNG 1660 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 20 NS:-7 6CS6 920 50 3 ¢ 6 Dif: -610 NS:10 5HXN6 1050 100 1
» A9864 IMP: 1 EW:8 6CN6 920 50 3 & AKJ7654 IMP: -12 EW:-14 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 1 NS: Fi&E BEBIREAC) -6 8 NS: R E#E 5Ri&E(BO) -1 VP:| 10.77 : 9.23 Total VP: 52.38 Rank:
EW: 218 HIEMEE0) 11 EW: MK £LRZ(BAC) 6 IMP:| 28 26 7
___ _
# 11 » AQJ75 3SN3 -140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2CS-1100 Mean: 3HS3 140 30 2
v QJT98 5DW-3 -150 60  5DW-3 150 3.0 1 v 764 1NS2-120 30  2HS3 140 30 3
95 Dif: 10 NS:3 4DW-3 150 3.0 1 + Q6 Dif: 220 NS:3 1NS2 120 30 2
&2 IMP: 0 EW:-2 3SN3 140 2.0 2 & QT976 IMP: 6 EW:4 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS5 -150 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 450 Mean: 4HW-1 50 90 1
v 5DS-1100 70  3HE-2 200 40 1 v Ad2 4HE-1-50 -370 4HE-1 50 90 1
¢ T832 Dif: -250 NS:-5 3CXW-1 200 4.0 1 ¢ T42 Dif: 500 NS:9 3NE3 400 1.0 4
& A532 IMP: -6 EW:-2 3DS5 150 2.0 2 & A974 IMP: 11 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 2SE-1-50 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 2NS4 -180 120  2NS4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 130 NS:2 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 4 EW:2 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 25S-150 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2200 Mean: 3NS3 600 12.0 1
v A942 1NE190 -60  1NE-1 50 30 1 v Q5 2DS2-90 -30  2SE-3 150 50 2
+ A93 Dif: -40 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: 290 NS:3  2NS3 150 50 1
& 42 IMP: -1 EW:0 3SS-2 4100 1.0 1 & KQT95 IMP: 7 EW:5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CN6 -920 Mean: 7CS7 1440 120 2 ||# 20 a7 5DE-3 -300 Mean: 6HXN6 1660 140 2
v AQ32 3NS4 -430 750 6CS7 940 50 2 v AKT7 5HS-1100 580 5HXXN5 1200 12.0 1
+ QT73 Dif: -490 NS:-8 6CS6 920 50 3 ¢ 6 Dif: -400 NS:-12 5HXN6 1050 100 1
» A9864 IMP: -10 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: -9 EW:7 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 2 NS: ¥igkz BEEIEEAC) 9 10 NS: 3%k Z#EIB(FH0) 4 VP:| 14.28 : 5.72 Total VP: 30.82 Rank:
EW: EEH BREBEIO) 4 EW: 31132 ZBEH(BAC) -9 IMP:| 22 9 16
___ _
# 11 » AQJ75 2SN3 -140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2HS2 -110 Mean: 3HS3 140 30 2
v QJT98 3DW3 110 60  5DW-3 150 3.0 1 v 764 2HS3 -140 30  2HS3 140 30 3
95 Dif: -250 NS:-5 4DW-3 150 3.0 1 + Q6 Dif: 30 NS:3 1NS2 120 30 2
»2 IMP: -6 EW:-2 3SN3 140 20 2 & QT976 IMP: 1 EW:-2 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 -130 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE3 400 Mean: 4HW-1 50 90 1
v 3DS5-150 70  3HE-2 200 40 1 v Ad2 4HE5 450 -370  4HE-1 50 90 1
¢ T832 Dif: 20 NS:2 3CXW-1 200 4.0 1 ¢ T42 Dif: -50 NS:-2 3NE3 400 1.0 4
& A532 IMP: 1 EW:-2 3DS5 150 2.0 2 & A974 IMP: -2 EW:1 4HW5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN2 -120 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 2HW-4 -200 120  2NS4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 80 NS:2 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 2 EW:0 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 & T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 90 Mean: 3NE-2 100 40 2 ||# 18 aT5 1NW2 120 Mean: 3NS3 600 12.0 1
v A942 1NE190 -60  1NE-1 50 30 1 v Q5 2NS2-120 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 00 3 + QJ43 Dif: 240 NS:4 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 6 EW:3 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 976 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 ' 5CS7 -440 Mean: 7CS7 1440 120 2 ||# 20 a7 5HXNG6 -1050 Mean: 6HXN6 1660 14.0 2
v AQ32 5CS6 -420 750  6CS7 940 50 2 v AKT7 6HXNG6 -1660 580 5HXXN5 1200 12.0 1
+ QT73 Dif: -20 NS:-8 6CS6 920 50 3 ¢ 6 Dif: 610 NS:14 5HXN6 1050 100 1
» A9864 IMP: -1 EW:7 6CN6 920 50 3 & AKJ7654 IMP: 12 EW:-10 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 3 NS: T3 BICfEERC) -28 7 NS: E{g& BI#K(H0) 25| VP:| 0.00 20.00 | Total VP: 38.72 Rank:
EW: ¥ ZEEIZ(HO) 25 EW: BMSE 2HEX(BAC) 2 IMP:| 3 : 53 13
___ _
# 11 » AQJ75 3NE-1-50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2HS2 -110 Mean: 3HS3 140 30 2
v QJT98 5DW-1-50 60  5DW-3 150 3.0 1 v 764 4HS-2200 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: -310 NS:-6 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: -7 EW:-2 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 -130 Mean: 3NE-3 300 60 2 ||#14 s A93 4HE4 420 Mean: 4HW-1 50 90 1
v 2SW2110 70  3HE-2 200 40 1 v Ad2 4HW5 450 -370  4HE-1 50 90 1
¢ T832 Dif: -240 NS:-5 3CXW-1 200 4.0 1 ¢ T42 Dif: -30 NS:-2 3NE3 400 1.0 4
& A532 IMP: -6 EW:-2 3DS5 150 2.0 2 & A974 IMP: -1 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3NN3 -600 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 3CS-1100 120 2NS4 180 2.0 1 v AJ 4SXS-3 500 -610 4HW4 620 0.0 13
+ AQ6 Dif: -700 NS:-6 2HW-4 200 20 1 + Q63 Dif: 120 NS:3 4HW5 650 -1.0 2
» 8743 IMP: -12 EW:-10 1NN4 180 2.0 1 & 87642 IMP: 3 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 90 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2 200 Mean: 3NS3 600 12.0 1
v A942 1NE190 -60  1NE-1 50 30 1 v Q5 3NS-4400 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: -200 NS:-9 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: -5 EW:5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 7CS7 -1440 Mean: 7CS7 1440 120 2 ||# 20 a7 5HXS5 -850 Mean: 6HXN6 1660 140 2
v AQ32 6CS7 -940 750 6CS7 940 50 2 v AKT7 2CW-3 -300 580 5HXXN5 1200 12.0 1
+ QT73 Dif: -500 NS:5 6CS6 920 50 3 ¢ 6 Dif: -550 NS:-7 5HXN6 1050 100 1
» A9864 IMP: -11 EW:-12 6CN6 920 50 3 & AKJ7654 IMP: -11 EW:-7 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 4 NS: Z53 MR EHC) -9 5 NS: E30&E SEER(BAO) 31 VP:| 1.42 18.58 | Total VP: 49.70 Rank:
EW: 20 =, BEELOMEFO) 31 EW: FEE RESZ(BAC) 9 IMP:| 7 42 10
___ _
# 11 » AQJ75 2SXN3 -570 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 1NS-1100 Mean: 3HS3 140 30 2
v QJT98 4DW-3 -150 60  5DW-3 150 3.0 1 v 764 4SE-2-100 30  2HS3 140 30 3
95 Dif: -420 NS:3 4DW-3 150 3.0 1 + Q6 Dif: 200 NS:2 1NS2 120 30 2
&2 IMP: -9 EW:-11 3SN3 140 2.0 2 & QT976 IMP: 5 EW:4 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3NE-3 -300 Mean: 3NE-3 300 60 2 ||#14 s A93 4HE4 420 Mean: 4HW-1 50 90 1
v 2SW2110 70  3HE-2 200 40 1 v Ad42 3NE3 400 -370 4HE-1 50 90 1
¢ T832 Dif: -410 NS:-5 3CXW-1 200 4.0 1 ¢ T42 Dif: 20 NS:-1  3NE3 400 1.0 4
& A532 IMP: -9 EW:-6 3DS5 150 2.0 2 & A974 IMP: 1 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN2 -120 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4NW5 660 Mean: 4SXS-3 500 3.0 2
v AT9 2SE2110 120 2Ns4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: -230 NS:-6 2HW-4 200 20 1 + Q63 Dif: 40 NS:0 4HW5 650 -1.0 2
» 8743 IMP: -6 EW:0 1NN4 180 2.0 1 & 87642 IMP: 1 EW:2 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE2 120 Mean: 3NE-2 100 40 2 ||# 18 aT5 2NS3 -150 Mean: 3NS3 600 12.0 1
v A942 1NE2120 -60  1NE-1 50 30 1 v Q5 2SE-3-150 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-2 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:5 2NS3 150 50 1
& 42 IMP: 0 EW:2 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:-5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 ' 6CS7 -940 Mean: 7CS7 1440 120 2 ||# 20 a7 6HXNG6 -1660 Mean: 6HXN6 1660 14.0 2
v AQ32 6CS6-920 750 6CS7 940 50 2 v AKT7 2CN2-90 580 5HXXN5 1200 120 1
+ QT73 Dif: -20 NS:5 6CS6 920 50 3 ¢ 6 Dif: -1570 NS:-10 5HXN6 1050 100 1
» A9864 IMP: -1 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: -17 EW:-14 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 5 NS: BR17$% FHEEEIC) -6 4 NS: S51E Z=HRZ(FH0) 9 VP:| 5.20 14.80 | Total VP: 61.89 Rank:
EW: #cT-¥E #F2=HBEE0) 9 EW: gt #inE(BAC) 6 IMP:| 12 27 5
___ _
# 11 » AQJ75 3SN3 -140 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2SE2 110 Mean: 3HS3 140 30 2
v QJT98 4SXN-1100 60  5DW-3 150 3.0 1 v 764 2HS3 -140 30  2HS3 140 30 3
95 Dif: -240 NS:-4 4DW-3 150 3.0 1 + Q6 Dif: 250 NS:3 1NS2 120 30 2
&2 IMP: -6 EW:-2 3SN3 140 2.0 2 & QT976 IMP: 6 EW:4 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 2SW-1-100 Mean: 3NE-3 300 60 2 ||#14 s A93 4HW-1 -50 Mean: 4HW-1 50 90 1
v 2DS4-130 70  3HE-2 200 40 1 v Ad2 4HW5 450 -370 4HE-1 50 90 1
¢ T832 Dif: 30 NS:2 3CXW-1 200 4.0 1 ¢ T42 Dif: -500 NS:-2 3NE3 400 1.0 4
& A532 IMP: 1 EW:-1 3DS5 150 2.0 2 & A974 IMP: -11 EW:-9 4HW5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN4 -180 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 3NN-2200 120 2Ns4 180 2.0 1 v AJ 4HW5 650 -610  4HW4 620 0.0 13
+ AQ6 Dif: -380 NS:-8 2HW-4 200 20 1 + Q63 Dif: -30 NS:-1 4HW5 650 -1.0 2
» 8743 IMP: -9 EW:-2 1NN4 180 2.0 1 & 87642 IMP: -1 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 90 Mean: 3NE-2 100 40 2 ||# 18 aT5 2NS-3 300 Mean: 3NS3 600 12.0 1
v A942 1NE190 -60  1NE-1 50 30 1 v Q5 3NS-3300 -30  2SE-3 150 50 2
+ A93 Dif: 0 NS:-1 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:-7 2NS3 150 50 1
& 42 IMP: 0 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:7 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CS6 -920 Mean: 7CS7 1440 120 2 ||# 20 a7 5HN5 -650 Mean: 6HXNG6 1660 140 2
v AQ32 6CN6 -920 750  6CS7 940 50 2 v AKT7 5HXS5 -850 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 0 NS:5 6CS6 920 50 3 ¢ 6 Dif: 200 NS:7 5HXN6 1050 100 1
» A9864 IMP: 0 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: 5 EW:-2 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 6 NS: BE®E &5BE0) -12 3 NS: E¥3038 PEIREE(BRO) -2 VP:| 717 : 12.83| Total VP: 32.84 Rank:
EW: BEEGHE BEYR(RE0) 2 EW: FRZZHT #iEXAB(BAC) 12 IMP:| 10 18 15
___ _
# 11 » AQJ75 3DW3 110 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 3HS3 -140 Mean: 3HS3 140 30 2
v QJT98 2SN3 -140 60  5DW-3 150 3.0 1 v 764 2HS3 -140 30  2HS3 140 30 3
95 Dif: 250 NS:2 4DW-3 150 3.0 1 + Q6 Dif: 0 NS:3 1NS2 120 30 2
&2 IMP: 6 EW:5 3SN3 140 2.0 2 & QT976 IMP: 0 EW:-3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 3DS4 -130 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE4 430 Mean: 4HW-1 50 90 1
v 3DS4-130 70  3HE-2 200 40 1 v Ad42 3NE4 430 -370 4HE-1 50 90 1
¢ T832 Dif: 0 NS:2 3CXW-1 200 40 1 ¢ T42 Dif: 0 NS:-2 3NE3 400 1.0 4
& A532 IMP: 0 EW:-2 3DS5 150 2.0 2 & A974 IMP: 0 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 1NN3 -150 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 3CS-1100 120 2NS4 180 2.0 1 v AJ 4HW5 650 -610  4HW4 620 0.0 13
+ AQ6 Dif: -250 NS:-6 2HW-4 200 20 1 + Q63 Dif: -30 NS:-1 4HW5 650 -1.0 2
» 8743 IMP: -6 EW:-1 1NN4 180 2.0 1 & 87642 IMP: -1 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 2SS-150 Mean: 3NE-2 100 40 2 ||# 18 aT5 2CS2 -90 Mean: 3NS3 600 12.0 1
v A942 3NE-2-100 -60  1NE-1 50 30 1 v Q5 2DS2-90 -30  2SE-3 150 50 2
+ A93 Dif: 150 NS:4 2SS-1 50 0.0 3 + QJ43 Dif: 0 NS:3 2NS3 150 50 1
& 42 IMP: 4 EW:0 3SS-2 4100 1.0 1 & KQT95 IMP: 0 EW:-3 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 5CS7 -440 Mean: 7CS7 1440 120 2 ||# 20 a7 4HNG6 -680 Mean: 6HXN6 1660 140 2
v AQ32 5CS7 -440 750  6CS7 940 50 2 v AKT7 5DE-1-100 580 5HXXN5 1200 12.0 1
+ QT73 Dif: 0 NS:-7 6CS6 920 50 3 ¢ 6 Dif: -580 NS:-10 5HXN6 1050 100 1
» A9864 IMP: 0 EW:7 6CN6 920 50 3 & AKJ7654 IMP: -11 EW:-3 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 7 NS: BRAERE # R EAC) 26 6 NS: HEE £EAR(EO) -24 VP:[ 19.33 : 0.67 | Total VP: 49.04 Rank:
EW: {528 5R&#2(FH0) 24 EW: EEER B#£I1EBAC) -2 IMP:| 51 10 1
___ _
# 11 » AQJ75 3DW4 130 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 1HS2 -110 Mean: 3HS3 140 30 2
v QJT98 3DW3 110 60  5DW-3 150 3.0 1 v 764 1NS2-120 30  2HS3 140 30 3
95 Dif: 20 NS:-5 4DW-3 150 3.0 1 + Q6 Dif: 10 NS:3 1NS2 120 30 2
»2 IMP: 1 EW:5 3SN3 140 20 2 & QT976 IMP: 0 EW:-2 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 110 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 ||e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 » J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 5DS-1 100 Mean: 3NE-3 300 60 2 ||#14 s A93 3NE3 400 Mean: 4HW-1 50 90 1
v 3CXW-1-200 70  3HE-2 200 40 1 v Ad2 3NE3 400 -370  4HE-1 50 9.0 1
¢ T832 Dif: 300 NS:4 3CXW-1 200 4.0 1 ¢ T42 Dif: 0 NS:-1 3NE3 400 1.0 4
& A532 IMP: 7 EW:5 3DS5 150 2.0 2 & A974 IMP: 0 EW:1 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1||eQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 2SE2 110 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4SXS-3 500 Mean: 4SXS-3 500 3.0 2
v AT9 3NN3 -600 120 2NS4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 710 NS:10 2HW-4 200 20 1 + Q63 Dif: 120 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 12 EW:6 1NN4 180 2.0 1 » 87642 IMP: -3 EW:-3 4NW5 660 20 1
3 » AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 2NE4 180 Mean: 3NE-2 100 40 2 ||# 18 aT5 2DS-1100 Mean: 3NS3 600 12.0 1
v A942 28S-150 -60  1NE-1 50 30 1 v Q5 3NS-4400 -30  2SE-3 150 50 2
+ A93 Dif: 130 NS:0 2SS-1 50 00 3 + QJ43 Dif: -300 NS:-9 2NS3 150 50 1
& 42 IMP: 4 EW:3 3SS-2 4100 1.0 1 & KQT95 IMP: -7 EW:2 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 976 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CS6 -920 Mean: 7CS7 1440 120 2 ||# 20 a7 3CN-1 100 Mean: 6HXN6 1660 140 2
v AQ32 7CS7 -1440 750  6CS7 940 50 2 v AKT7 5HXXN5 -1200 580  5HXXN5 1200 12.0 1
+ QT73 Dif: 520 NS:12 6CS6 920 50 3 ¢ 6 Dif: 1300 NS:12 5HXN6 1050 100 1
» A9864 IMP: 11 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: 16 EW:12 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




X AN >\ ¢ —_—
5 1138 FF2ABERERE == RS 5
1 +
=
#1. 4 JEHH (78.08) #2: 18 FF3(75.45) #3: 5 775(66.86)
1 8 NS: #Ri45 BREMHEAC) 27 2 NS: BREZSF SLR M (BAO) -16 VP:| 18.97 : 1.03 Total VP: 75.45 Rank:
EW: BERY faltZE(BHO) 16 EW: BR#<F BR#R(BAC) -2 IMP:| 48 10 2
___ _
# 11 » AQJ75 4DW-1 -50 Mean: 2SXN3 570 11.0 1 [[# 12 s 973 2DW2 90 Mean: 3HS3 140 30 2
v QJT98 3NE-1-50 60  5DW-3 150 3.0 1 v 764 3HS3 140 30  2HS3 140 30 3
95 Dif: 0 NS:0 4DW-3 150 3.0 1 + Q6 Dif: 230 NS:3 1NS2 120 30 2
&2 IMP: 0 EW:0 3SN3 140 2.0 2 & QT976 IMP: 6 EW:3 4SE-2 100 20 1
» T98 s 42 2SN3 140 2.0 2 ||s 864 » KQJ5 2HS2 110 20 2
v 643 v AK72 5DW-1 50 00 1 ||v AQ3 I v J8 1HS2 10 20 1
¢ KT82 * AJ74 5DE-1 50 00 1 |]|e JT742 * 985 2SE-1 50 1.0 1
* AQ5 » KJ3 4DW-1 50 00 2 ||s A4 # J852 2DW2 90 3.0 1
% ¢ VAN 4K63 3NE-1 50 00 2 *eVAN 4 AT2 2SE2 110 40 1
N ~~~2~ 95 4SXN-1 100 -40 1[N 1 ~2~1 » KT952 2CS-1 100 40 1
S ~~~2~ ¢Q63 3DW4 130 50 1||S 1~3~1 ¢ AK3 1NS-1 100 -40 1
E ~42~2 4798764 3DW3 110 50 3||E ~2~1~ &K3 4HS-2 200 -6.0 1
W ~42~2 W ~2~~~ 2NS-2 200 6.0 1
#13 a AT876 5DS-1 100 Mean: 3NE-3 300 60 2 ||#14 s A93 4HWS5 450 Mean: 4HW-1 50 90 1
v 3NE-3-300 70  3HE-2 200 40 1 v Ad2 4HW4 420 -370  4HE-1 50 90 1
¢ T832 Dif: 400 NS:6 3CXW-1 200 4.0 1 ¢ T42 Dif: 30 NS:-2 3NE3 400 1.0 4
& A532 IMP: 9 EW:5 3DS5 150 2.0 2 & A974 IMP: 1 EW:2 4HWS5 450 20 5
& KQJ92 N a 53 3DS4 130 2.0 4 ||aJ7 ~ KT65 4HW4 420 20 1
v 864 v AKT93 2DS4 130 2.0 1 ||e KJ98765 v Q 4HE5 450 2.0 2
*J -l— + Q65 2SW-1 100 1.0 1(|leQ + AKJ86 4HE4 420 20 2
& KQJT a 764 5DS-1 100 -50 3 ||a KJ2 » QT8 3NE4 430 20 2
¢VAN L4 2SW2 110 50 2 o VAN 4, Q842
N ~4~~1 v QJ752 2SN-2 200 70 1[N ~~~~~ v T3
S ~4~~1 ¢AK974 S ~~~~~ ¢ 9753
E ~~11~ 498 E 23423 &653
W ~~11~ W 23423
# 15 4 764 3NN-2 200 Mean: 3NN3 600 10.0 3 ||# 16 4 J72 4HW4 620 Mean: 4SXS-3 500 3.0 2
v AT9 3NN3 -600 120 2NS4 180 2.0 1 v AJ 4HW4 620 -610  4HW4 620 0.0 13
+ AQ6 Dif: 800 NS:10 2HW-4 200 20 1 + Q63 Dif: 0 NS:0 4HWS5 650 -1.0 2
» 8743 IMP: 13 EW:8 1NN4 180 2.0 1 & 87642 IMP: 0 EW:0 4NW5 660 20 1
3 & AQJ82 1NN3 150 1.0 2 ||s AQ63 a9
v Q87653 v 3Cs3 110 00 1 v T54 — v KQ9873
+ K87 ¢ JT943 1NN2 120 00 2 ||e KJ ¢ 952
& A5 » T62 2SE-1 50 20 1 & AQJT & K53
o VAN KI5 3Cs-1 -100 -6.0 2 %o ¢ VAN 4 KT854
N 2~1~3 v KJa2 2SE2 110 60 2 |IN ~1~~~ ¢ 62
S 2~1~3 ¢52 3NN-2 200 -80 2 ||S ~1 ~~~ o AT874
E ~2~1~ &KQJ9 E 3~4~2 &9
W ~2~1~ W 3 ~4~2
# 17 » KJ92 1NE1 90 Mean: 3NE-2 100 40 2 ||# 18 aT5 3NS-2200 Mean: 3NS3 600 12.0 1
v A942 3NE-2-100 -60  1NE-1 50 30 1 v Q5 3HW-2 -100 -30  2SE-3 150 50 2
+ A93 Dif: 190 NS:4 2SS-1 50 0.0 3 + QJ43 Dif: 300 NS:4 2NS3 150 50 1
& 42 IMP: 5 EW:1 3SS-2 4100 1.0 1 & KQT95 IMP: 7 EW:5 3HW-2 100 40 1
a5 ~ AQ8 1NE1 90 1.0 8 ||a J6 ~ A9432 2NS2 120 40 1
v JT3 v KQ85 1NE2 4120 20 2 ||e JT943 | v 72 2DS2 90 30 2
¢ JT76 * KQ2 2NE4 180 -3.0 1 ||e A72 ¢ KT8 2Cs2 90 30 1
& K9876 a JT5 » A73 & J86 2DS-1 100 20 1
VAN ,T7643 %o VAN 4, KQB7 1NW2 120 -3.0 1
N ~~~1~ 76 N 22~~1 v AK86 3NS-2 200 -50 3
S ~~~1~ ¢854 S 22~~1 ¢965 3NS-3 300 -7.0 1
E 433~1 &AQ3 E ~~~~~ & 42 2NS-3 300 -7.0 1
W 433~1 W ~~~~~ 3NS-4 400 9.0 2
#19 'y 6CN6 -920 Mean: 7CS7 1440 120 2 ||# 20 a7 4HNG6 -680 Mean: 6HXNG6 1660 140 2
v AQ32 5CS7 -440 750  6CS7 940 50 2 v AKT7 4HXS5-990 580 5HXXN5 1200 12.0 1
+ QT73 Dif: -480 NS:-7 6CS6 920 50 3 ¢ 6 Dif: 310 NS:9 5HXN6 1050 100 1
» A9864 IMP: -10 EW:-5 6CN6 920 50 3 & AKJ7654 IMP: 7 EW:-3 4HXS5 990 9.0 1
4 KQ876 a AJT4 3SXW-2 500 6.0 1 ||a K82 » A964 5HXS5 850 7.0 2
v J96 v T854 5CS7 440 70 4 ||w 2 + v Q8 4HN6 680 3.0 2
+ K864 ¢ 952 5CS6 420 -80 1 ||e AKQS ¢ JT9754 5HN5 650 2.0 1
®5 » 32 3NS4 430 -80 1 ||a QT832 a9 5DE-3 300 -7.0 1
%o ¢ VAN 49532 3cs7 190 110 1 * VAN 4 QJT53 2CW-3 300 7.0 1
N 7~~~2 oK7 N 2 ~4~~ v J96543 5DE-1 100 -10.0 1
S 7~~~2 oA S 2~4~~ ¢32 2CN2 90 -10.0 1
E ~~~~~ & KQJT7 E ~4~1~ & 5HS-1 -100 -12.0 1
W ~~~~~ W ~4~1-~ 3CN-1 4100 120 2
6HS-2 200 -13.0 1




